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OCR A2 Biology

15 Animal responses

1
(a)

	Area of brain
	Function

	Cerebrum
	Conscious thoughts and movements

	Medulla oblongata
	Control of heart rate

	Hypothalamus
	Thermoregulation

	Cerebellum
	Fine control of movement



(b) 
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2
(a)
Cows live on the ground, but chimpanzees live in trees. This requires more complex coordination of movement.

(b)
The autonomic nervous system is divided into two parts: the sympathetic and the parasympathetic systems. The sympathetic system includes a cardiac accelerator nerve that connects to the pacemaker of the heart. Impulses sent down this nerve speed up heart rate. There are also nerves to the adrenal glands, which release adrenaline and speed up the heart. The parasympathetic system also connects to the heart. Impulses here slow down heart rate.

3
(a)
Impulses arriving at the neuromuscular junction cause an action potential in the sarcolemma. This causes the filaments of actin and myosin to slide past one another. The myosin has special heads that can attach to the actin and move, causing the sliding action. Energy is supplied by ATP to release the myosin head and make it swing back to the starting position. ATP is broken down to ADP and inorganic phosphate.

(b)
Cardiac muscle is found only in the heart, whereas skeletal muscle is found over the joints. Cardiac muscle consists of cells, whereas skeletal muscle has multinucleate fibres. Cardiac muscle has cross fibres, whereas skeletal muscle has all its fibres running parallel.
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